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A 7°1p is done in the presence of two and does not require, etc.

OVERVIEW

1" nX X127 stated that 1P is performed in the presence of two; (seemingly)
indicating, that if there are not two 27V present to observe the 7Ip it is not
effective. mo0In disabuses us of this notion.
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The n''1 says that the statement '2 °192 117 does not come to exclude that it will

not be considered a °1p if it is not performed in the presence of two 277V -
—59mUY NIN SN0 1929R NYT (3,70 97 PYITHA 199N NNT

For "wx 17 stated in Pw7R NO0N, ‘that witnesses were created only for liars’ —

mooin offers an additional proof the 1°1p is valid without 2>7v.
— %9 19952 T12IY N9 22D (x,m 97 ¥ Na2) AN P92 13999N)

And the X773 states in 27177 99, regarding the case where he was standing on
the threshing floor, etc. —

A 717 (which usually refers to 7710 11p) is an act which finalizes an agreement between two parties; for instance the
transfer of assets. The anp (or the 0>7¥ that act on his behalf) give a *73 to the 71pn, and by the 73p» accepting the 53,
the transaction is complete and final and neither can retract.
% The reason 1" says '1 °191 1°3p is only to teach us that even if it was done '2 °192 (and not '3 *192), nevertheless 5"¥X
12102 (see XX 171"7 X,1 1°717710 '00 on the top of the 2 Ty).
? The X there relates that X707 » and X20 XTX 21 (the sons of 70X 72 "1 217) divided the estate of their father
(without witnesses). They asked *wX 27 whether the division is valid since they were no 2>7¥ to effectuate the
division. "wX 17 responded that witnesses are made for the sole purpose that no one should deny that a transaction
was made. However the transaction (in this case the division) is effective even without witnesses. Similarly here the
13p is valid regardless if there are witnesses or not. [One of the exceptions to this rule is by 7Pw17P1 10 that if there
were no witnesses that the v3 or 1"W17°p were given, it will not be considered 71721 103, even if both parties agreed
that the 1w 1% took place. The reason is because by the act of 12171 0% we are *»InX? a1 (others cannot
marry these people). Therefore the 1"w17P1 1w 3 *7v are sometimes referred to as 01p *7¥ as opposed to other 0>7v who
are (merely) 71772 >7v.]
* The x7m there (on 2,7) cites a X012, ‘a man (who wanted to exempt himself from paying the w»n when
redeeming his "1 w¥n) who had no money with him says to his friend, ‘these m7°0 of ¥"vn are given to you as a
present’ and then he says to him, ‘those w"yn M7’ that you now own, I am redeeming them with the monies which I
have in my house’. The advantage for him is that since he was not 77719 his w"v» but his friend’s he is not required to
add the wmin. The & n3 inferred that if he would have money it would be better to transfer the money to his friend
(than the w"yn) and have his friend redeem the w"vn. In this way it would be less of a in7va (for we all know that he
is not [really] granting the w"vn to his friend). The X773 then asked why should he transfer the n17°0 to his friend and
then he should redeem the w"¥n of his friend, when it would be more appropriate that he transfer the money (which
he has in his house) to his friend through P9°%1 13> and his friend will redeem his w"v» (also without paying the
wnn).
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‘And if we maintain that coins can be acquired through y°5°°n 11p, let the
owner of the w"vn transfer to his friend the money in his house through 270 117,

and his friend will redeem the "y (without paying the wni) -
— 410 %Y Y4 7991

And the X713 replies that he has no kerchief; the X3 asks -
— 1159 7591 SYpaD 2N 11999PY)
And let him transfer the money to his friend through ypap 2aR 7°1p, and the X713

responds he has no Yp7p. The x»3 asks how can you say he has no ypp -
— 9 1RV NP 1902 TIMIY NN

But the Xn92 states he was standing on the threshing floor, the X723 responds

the 771 did not belong to him; the X3 finally asks -
— BY95 199 191 IXDIVIY X923 ")IMNYNRY X 990N

Did the Nin trouble himself to let us know this rule in the most unusual case of a

naked man who owns nothing -
— %1955n2 N3P ¥aONM PNRT NI YNV KN

But rather we can derive from this Xn»92 that coins cannot be acquired

through °2°%1 1°1p. This concludes the citation from the X3 in »"2. Now maoin concludes
with his proof that no o°7¥ are required for 1975 -

— 7001y XYY 1393W5Y B1Y N2 1937 YN XY IN)
And if by 770 1P it is not considered a 1 without 2°7¥ the X713 should have
answered that there was no 2%7¥. This proves that 970 117 is effective even without o°7v.

mooIn offers one final proof:
— %2 79U 1929 19N (%191 PITNIDT NP D993 NI

And furthermore the 3129 maintain in the first P9 of 7m® noon that a

> This means he had no article (or *73) with which to perform P2°%1 1ip. However he was able to transfer the n17°,
which were there in the 1713, through 72°wn 1°1p. See ‘Thinking it over’.
® The owner of the w"y»n M5 should grant his friend a small piece of the 1713 through 7P 1717 and be 711p» to him
the money in his house through 23X 71p (by which one acquires the ¥pp 23x 1°20570n).
7 The xin stated the case that he transfers the n11° instead of the nw» (which would be more appropriate) because
we are discussing a case of a 0173 12 n°%7 *R?°v7w X123! The Xin should teach us by a regular case where he has a
9710 or ¥pIp etc.
¥ Therefore his only option is to be i11p» him the w"¥»n Mm99, since the monies (which are not here) cannot be
transferred through 12°%m.
? The xm3 should have responded that perhaps 1"5*>na n1p1 ¥awn, however here there were no 27y to validate the
1.
" A 7w» is where the two litigants agree to compromise as the 17 will see fit (even if it is not in complete
accordance with the strict interpretation of the law).

2

TosfosInEnglish.com



TP A" oI R,» 2" 702

compromise can be done with only one 17, we do not require a 7" of three -
Zonn pronTa H1ap xoya n9waT 23 Yy 9N

Even though that a 79w requires a 1P as the X concludes there. If Pip
requires two 07V, how can only one person rule on the 77w5? This proves (again) that 13 does
not require 077V.

SUMMARY
A 7710 13p is valid without anyone being present to witness it.

THINKING IT OVER
If we were to maintain that (1710) 7°1p requires two (not like the n"), what would
be the ruling regarding other o13p, such as apm ,72°wn, etc.” would they also

require o°w?"*

' The litigants must make a 970 P3p in which they commit their assets to pay the other litigant whatever the result
of the compromise demands.
12 mpoin in g% "7 17710 rejects this proof, writing: TWYW 7IWwon 0pY O°IW °192 MIPT? 21277 99 IRIM R PR
702,
1 See footnote # 5.
¥ See n"na.
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